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b JIZHER) 2 E (2911 %)

T z2 3Mg z2 6Mg Z2 9Hg z2 120
AHI2tHE S SAHAEH(FA) 7.61 7.59 -3.54 -1.12
(Blm X% Chel A1) (0.84) (-4.43) (-0.04) (-2.45)
ZZ(Class)g & &
N ToAY S SXAE(FA)CIF 7.05 6.43 -5.19 -3.33
(Blm X% Chel A1) (0.28) (-5.59) (-1.68) (-4.66)
N ToAY S SXAE(FA)CIF 7.05 6.45 -5.14 -3.27
(Blm X% Chel A1) (0.29) (-5.56) (-1.64) (-4.60)
N ZolAY S SXHAE(FA)C3T 7.08 6.50 -5.07 -3.17
(Bl X% Chel A1) (0.31) (=5.51) (=1.57) (=4.50)
N ZoIAY S2 SXHAE(FA)CAT 7.10 6.56 -5.00 -3.08
(Blm X% Chel A1) (0.34) (-5.46) (=1.49) (=4.40)
N ZoAY S SXHAE(FA)C5T 7.15 6.66 -4.85 -2.88
(Bl X% Chel A1) (0.39) (-5.36) (-1.85) (=4.21)
CDSC HEHE S& =298
NGt Y SR SXHAIEH(EA)C_S8 7.15 6.64 -4.91 -2.98
(Blm X% Chel A1) (0.38) (-5.38) (-1.40) (-4.30)
gl W Xl = (# X 0t3) 6.77 12.02 -3.51 1.33
) BlwXI#=(#XI0t3) : KOSPI 90.0%, CD91 10.0%
¥ 2 SXNAA2 M JUE LIEY 021 284S B&6= A2 Ot LUICH
= z214 z2 24 z2 34 z2 54
ASTRAHNSY SH SRAIEH(FA) -1.12 21.90 69.34 61.24
(Bl X2 thel 1) (-2.45) (-3.44) (5.81) (20.76)
Z3(Class)g &&
NI TRt S SXHAIEH(FA)CTE -3.33 - - -
(Bl Xl thel 1) (-4.66) - - -
NI TRt S SXHAIEH(FA)C2E -3.27 - - -
(Bl Xl thel 1) (-4.60) - - -
NI TRt S SXHAIEH(FA)C3Y -3.17 - - -
(Bl Xl thel 1) (-4.50) - - -
NI TRt S SXHAIEH(FA)CAE -3.08 - - -
(Bl Xl thel 1) (-4.40) - - -
NI TRl S SXHAIEH(FA)C5S -2.88 - - -
(Bl Xl Chel 1) (-4.21) - - -
CDSC HgHE S& +=94E
AYTetlllY S SXAS(FA)C_S8 -2.98 - - -
(Bl Xl thel 1) (-4.30) - - -
Bl Xl==(}XI0t3) 1.33 25.35 63.53 40.48
Z) Blw X 4=(#XI0t32) : KOSPI 90.0%, CD91 10.0%
* 9 SNARS W SUE LEY & 0o 2EH0E B&d= 22 Ot LICH
> EREE (291 : wora)
= =2 _ LBYE | ooy | —2NE Jedidse) o0 | Lopy
FA TH2 ols ZetEx | AU | = MR DIEH o=
& 0| -61 0 27 0 0 23 -1 -1
=) 4,263 0 0 16 0 17 -1 4,296
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> S22, HIEHI2 (B - reret, %)
Z24 - HISHIE(A) OHOH - S48 HIE(8) 821l (A+B)
_ FO| 0.002 0.3058 0.3078
AYTotA Y SH SXHAIE(FA])
g0 0.0024 0.3438 0.3462
Z5F(Class)g S
R , FO| 2.2842 0.3022 2.5864
AGOetlile S SXAE(FA)CTE
g0 2.2846 0.3459 2.6305
R FO| 2.1844 0.3133 2.4977
AGOetelile S SXAE(FA)C2E
=9l 2.1847 0.3459 2.5306
R , FO| 2.0841 0.2902 2.3743
AGOetlile S SXAE(FA)C3E
=9l 2.0845 0.3274 2.4119
R FO| 1.9843 0.3127 2.297
AGOetlile S SXAE(FA)C4E
g 1.9846 0.3476 2.3322
R FO| 1.7847 0.2996 2.0843
AGOetelile S SXAE(FA)CEE
=9l 1.7851 0.3431 2.1282
1) Z24-HI2HI2(Total Expense Ratio)0|2t SEE4 S BEWA SYGHE 2472 JIEHIS SN2 XA AHTAU(24-HIE IR
JFE)CR L= HISZA Y 28712 5 SXXIL 28 & B2-HIS2FES LIEHALICH
F2) OHOH.EH+42 HISO0IZ . NS4S X4 HBIU(Z4-HI UAN IIF)OZ Lhe HISZM Y 2812 E SN S
Cl

et HOH. S +=+=22 === LIEI-LICH

6. SXXHAOHOHL &

> DHOH=FAIRE L SN (Sl : iOrRl %)
B o= HOK3I & B3
2 E Azt 204 e |2t e,
1,313,513 08,824 1,273,428 33,489 60.70 240.82
F) Y S22 E WS TAJINO SUS 1) Y 2RI E 298 TA WRIIUOR L HIE
» X2 32| HOHEI ™ E 0| (9] : %)

115053162 ~11H08& 15 11E08E 162 ~11E11E15&

1ME11E16Y ~128028 15

59.14 40.37 60.70
S X ALE
Ol EuM= T2AIZHEM 2ol AT UAHSSHAEINANE(FA)2E2 IMSEI AL 'MATASE(F)'0] HH0H0 HET A 23| AHA!
Et el ‘o2 o] Eolg 2ot THOHSIAte! ' 0I2E'g Soll S XA MSESLICH CHet L2 EE HES| HETHAE 23| AHAE N
b &e|te 23 oistE 2 0% D20l BHELICH
Zt= H M &ol AT E(F) www.syfund.co.kr / 02-2004-9500
ZE2EXNE3 http://dis.kofia.or.kr
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